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Candidates are allowed to take away with them the Test
Booklet of Mathematics and Aptitude Test-Part I & II.
The CODE for this Booklet is R Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for replacement
of the Test Booklet, Answer Sheet and the Drawing Sheet.

Do not fold or make any stray mark on the Answer Sheet.

1.

Ugtl Ylatsiedl 2 WAl ¥R 219045 (A2l wRlen visHl Guaey
sdd sl el ez U WA o gea eed,

2L 33 YRS AL MWL S - GIRLT, GIRLIT 24 GURLTIL GURL
Ui oUBictell og(Aseur{l UsIRAL 30 Ul © sl €35 AL svelletrtl
AR (4) 22 A AL 2L TT 240321 wlaiiel cglaseleL
USIR-AL 50 M3 8 o/l €25 AL srellotdl AR (4) AL AMAUHL
2ylaRl 2L U YRetsidl 2iE2 v sreliot A e O. Wl
vl 23U evellol WU HoH 22U AR svellot Rl s3ell.
welel vsHl oAl YAl Side-1 il Side-2 sy (A1t et/
vl quidl 42 Guaey s21dd 3] wld ez Al Gy
$2ql. Gl T4 O U3l © ep-il 70 2L RaiREld s2euml 2ue
8 il 2iqoell 2uual 2udd Q8L alle uR szell 28 @ U
YRasidl vig2 ysa O, ucls waedl AH AL 2Rl 2UNd B, $18%
Adle w2 WA sar YA wqA Fll Gl 4. aaRol)
Guglor 32l sl 9L T 24l LT UL €35 Wlel svellol R
(Reila operuisll operisll V4 (2is -=d) ool (2ied 1 94e1)
SPUALAL AL, v ellol YA SIS UL avaled o 2l $6 yE]
S 1 sevunl sl wud.

MILT 2 AL TT AL UL 2Asor 41U syl ©. sl 9uR
svellot uellel R A viel sveter Wil Guz (gL 53 2
Yorod QL SIMAHL AL

Wlatedl A4 3 selsedl ©. 2 2ABsau 90L 390 ©.

wilaw el 2 ouig, ulewsl aulRid 2 23R wRlau-euat 1
el oL 1T 24 el wlan-cna 1 Al Qi alle da
oL T ol wRlan yRast vis AlasA Al gell. wlanel=i
el 208 Al 24 203R0 wRlau-cn 12 11 L wlsn
YReist A8 @4 ovd A O.

2 osdeddl s R 8. d B 3l dg) 3 svatiot yReisiedl
ousy-2 W2 Y S18 2 QoL 2lle (et TI) W Yfad sisel
A €l 2 wElatl YReist, sreliot w2t SiaL 2lledl 3
vl AU @l d YRR sl dd. sl 2ual v suu
Ulgonawdl QUL wlsnell vis [ilais qid sael 531 wilew
YResl, srellor AL 4 giEoL Alledl vigdl suell adll.

sraltor st AN A€l el wR S [Raudt s Al

Name of the Candidate (in Capitals) :

wlawiell A (el 2taRi)

Roll Number :in figures

25ls : sl
:in words
: o€

Examination Centre Number :
YRlgL Seg vy
Centre of Examination (in Capitals) :

RlEL Seg (M2l 2AsR1l) ¢

Candidate’s Signature :

wRlguelll 214l :

Invigilator’s Signature (1)
(A=lats4l udl (1) :
Invigilator’s Signature (2):
[Rlas-l 1l 2)




Part I / a1
Mathematics / 2iq

If f(x)+2 f(1—x)=x%2+1, ¥ x € R, then
the range of fis :

o [4)
o [2]
o [

Let A={z e C:|z|=25} and
B={z € C: |z+5+12i|=4}. Then the
minimum value of |z—o|, for z € A and

weB,is:
1 6
2 7
G) 8
@ 9

If the product of the roots of the equation,
x2—5kx +2e208elkl —1=0 is 49, then the

1.

o f(X)+2 f(1—x)=x2+1, VxeR,dl fl
[BESSIES o.

o (=1

@ 5
o |53
@ 5]

Rl S A=z e C: |z|=25} 21
B={zeC:|z+5+12i|=4}. dl z e A 24

® e BUR, |z—of dl Yrdu Bua o,
1) o6
2 7
G) 8
) 9

od U530 ¥2—5kx + 2e2108elkl -1 =0 i
oloyll 9L 49 €14, dl 4L 435l ooyl

sum of the squares of the roots of the UL U0l Y.
equation is :
(1) 525 (1) 525
(2) 527 (2) 527
(3) 576 (3) 576
4) 627 4) 627
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2 52 152
If A=|4 106 358|, then the
6 162 620

determinant of the matrix adj(2A) is equal

to:

(1) 64
(2) 256
(3) 2048
(4) 4096

Let S be the set of all real values of \ for
which the system of linear equations

Ax+y+z=5\
2\ +2y—z=1
3y+z=9

has infinitely many solutions. Then, S :

(1) equals R.
(2) is a singleton.
(3) contains exactly two elements.

(4) is an empty set.

2 52 152

ol A=[4 106 358/, dl 835 adj(2A) -l
6 162 620

(A28 .

(1) 64

(2) 256

(3) 2048

(4) 4096

ou udlszeL Aeld

Ax+y+z=5\
2\ +2y—z=1
3y+z=9

A 2dd Gl §i A HRdl A Al i drdlds
Budiql oL, 4Rl 5SS, dlS:

(1) “RIRR 8.
(2) @isisl o .
(3)  ORIR o oy H2SL A O,

4)  vudl ol .

SPACE FOR ROUGH WORK / 2% 5Pid, 2



In order to get through in an examination
of nine papers, a candidate has to pass in
more papers than the number of papers
in which he fails. The number of ways in
which he can fail, in this examination, is :

1) 128
2) 255
3) 256
4) 9% (@8)!

Let T, denote the rth term in the binomial

expansion of (a+1)%0, If

125
Tos+Ty7="55 T

then the sum of all the values of a is :

1
™ 5
3
@ 3
3 2
5
@4 3

Aot YuRIHL 205 uLl8l Wi $3eL U GUEAR svedl
YYRIHL Al R Al Sl Q4R WU Wit

g 3. dll Ggeur 2 wilaua Sedl <ld A
uf 25 7

(1) 128

(2) 255

(3) 256

(4) 9x(8)!

Rl s T, 24 (a+1)%0 - (guel [BraRer i ue
e ©. o

125
Tos+ Ty =55 Toe

'G/

dl a Al s Bodidl weunl

1
O
3
@ 3
3 2
5
@4 3
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In an ordered set of four numbers, the first
3 are in A.P. and the last 3 are in G.P,,
whose common ratio is 7/4. If the product
of the first and fourth of these numbers is
49, then the product of the second and
third of these is :

(1) 60

2) 112

(3) 128

4) 144

If o (sin2x+sin4x+sin6x+. ..+ad inf.)loge2

(0 <x< gj satisfies the equation,

sinx

y2—5y+4=0, then pr——— equal
to:

1) -2++2)

2 -(2+1)

B V2-1

@) 2+2

AR AvAAAL U5 535l AL, UUH 3 vl
AR 2Rl (AP) Ul O 24 Oedl 3 vl
el 2Rl (G.P.) UL 8, sv«ll uisi- 2JRUTR
7/4 O, od 2l dviuidl uad 2q A4l
Availdl 2RISR 49 €, dl ¢y 2 Hlly

vl dLRUSIR o.
1) 60

2) 112

(3) 128

4) 144

M e (sin2x+sin4x+sin6x+. . A2dd ydl)loge2

(0<x<gj 2 w{lsr0l y2—5y+4=0 <

~ = sinx
HNUEYIA 83, Al ——— =
COSX —SInx
1 -@2+2)
2) —-K2+1)
@) 2-1
@) 2+V2
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1 N 1 .
10. Let f(x)= x[ﬂ for all x (#0) € R, where | 10. @Rl f (x)= x[ﬂ ddd x (#0) € R, sl
for each t € R, [t] denotes the greatest UAS te R U2, [t] 2Lt Ul Alrtl 2454l t A 13
integer less than or equal to t. Then : i Yol digl el yels euid ©. dl
li = li =
O oS =0 O 5o S0 =0
@ Anse=t @ o=t
@ SRt @ SRSt
@ R fe=1 @ g rm=t
72 —9% -8 +1 72 —9% -8 +1
11. If f(x) = ,x#0 11. o f(x) = ;X #0
f® V2 - J1+cosx f® V2 - J1+cosx
k2 log.21og.3,x =0 k2 log.21og.3,x =0
is a continuous function in the interval o drld [0, 2m) W Add [@Eu s, dl
[0, 21r), then k is equal to : k= SIEH
1) 4 1 4
(2) 18 (2 18
(3) 24 3 24
4) 36 (4) 36
12.  If y=y(x) is an implicit function of x given | 12. e y=y(x) 2 «x SRS (Gda ¢la 2
by ycosx +xcosy=r ; then y”(0) is equal ycosx +xcosy=m gL cdlvARd €, dl
to: y’(0) =
1 = 1
@2 - 2 -
G 0 3 0
(4) 2w (4) 2w
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13. Foreachx e R, letf(x)=|x—1|, g(x)=cosx | 13. MUcds x e R 42, 4Rl 5§ f (x)=|x—1],
and ¢(x) =f (g(2 sinx)) —g(f (x)). Then, ¢ g(x) = cosx 2t ¢(x) =f (g(2 SmX)) 8(f (%)-
is: dl, ¢ 2t
(1) differentiable at each point of R. (1) R - ucds (g 21010 [Bsaddld ©.

(2) not differentiable at 0. 2) 0210 [Asadl s,
(3) not differentiable at 1. (@) 12w [Asa-dl s,
(4) differentiable only in ( g gj (4) s (—E, gj U [Qsaddl ©.

14. Iff(x)=|x2—16| for all x € R, then the total | 14. “8l o/ x e R UL, o4 f(x)=|x2—16| &, dl
number of points of R at which f: R—R R Loy [Gigall 24010 f: R—R 22l 2ucdi(ds
attains local extreme values, is : ?;Lg—ifl Y219, dell [b'igtoﬁ.-ﬂ $a vl .
1 1 1 1
(2) 2 2 2
3 3 3 3
4) 4 4) 4

15. Let 15. 4Rl

X —X X —X
I= %dx, J= _4e—_2dx I= Z e2 dx, J= - © ) dx
e +e” +1 e e 41 T+e 41 THe 41
then, J—1I equals : a, J-I=
4x 2x 4x 2x
1 e —e” +1 1 e —eT +1
(1) 5 log, R +C (1) 5 log. R +C
2x | . x 2x , X
e” +e  +1 t+e” +1
—lo +C —lo +C
(@) 3 e e —e¥ 41 (@) 3 e e —e¥ +1
2x _ . x 2% _ x
1 e” —e " +1 1 e” —e " +1
—lo +C —lo +C
() 7 08 e +e¥ +1 () 3 8 e +e¥ +1
4x 2x 4x 2x
e te™ +1 1 e +teT +1
—loge |—/———1| +C —loge —/———1+C
(4) 2 e e4x _e2x +1 (4) 2 e e4x _e2x +1
(where C is a constant of integration) (ol C 24 2s@n-L 210is ©.)
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16. If x° 1+x° dx = mmw+n, then the x° 1+x° dx = mm+n, dl
1—x2 1—x2
ordered pair (m, n) is equal to : sHYscl oh$ (m, n)
11 11
M) (3’ 8) 1) (5’ 5)
( 12 j 1 2
(2) 8’ 3 (2) (gr gj
( 11 j 11
(3) 4’ 3 (3) (Z’ gj
11 11
O @ (53
17. The area (in sq. units) of the region | 17. s 12y=36—x2 AUl 2L Y5 x-21en & @gmﬁu{i
bounded by the curve, 12y =36 —x? and B8 O, d [Clgall 2L dri urisl giRL At
the tangents drawn to it at the points, u%ql-i goisuL (Al 2AsH) .
where the curve intersects the x-axis, is :
1 12 1 12
(2) 18 2) 18
3) 27 3) 27
(4) o 4) 6
18. Let y=y(x) be the solution of the [ 18. 4RrL% y=y(x) 2 [Ase UHlsR0L
differential equation :
d
x logex d_z +y =3xlogex, (x >1). x logex % +y =3x logex, (x >1) Al
Gya ©.
= 2y i . ~ ~
If y(e) —20, then y(e”) is equal to : A y(e) = L y(e?) =
1) e 1) 2
1.2 1
@ 3 @ 5 e?
— 2
(3) 2 € (3) E e
(4) 3e? 4) 3e2
R/Page 8 SPACE FOR ROUGH WORK / 2% $Pid, 2t



19. Let the straight lines, 5x—3y+15=0 and | 19. vl 5x—3y+15=0 2 5x+3y—15=0
5x +3y—15=0 form a triangle with the x-248 U 25 [AsleL orid 8. dl 24 [Asier
x-axis. Then the radius of the circle WRkad adardl A ®.
circumscribing this triangle is :

y y
3 3
y 7 y 7
@ = @ =
5 12 5 12
6 % O=
L, 1 G
@ @

20. The mirror image of the circle [ 20. v x+y+5=0 Ul dq
x24+y2-10x—10y=0 in the line x2+y2-10x—10y=0 ¢ ede-ulalda
x+y+5=0is a circle passing through the (mirror image) [‘}tg Higdl yuR
point : uq, C{(iUl 8.

1) (=3 =7 1) (=3 =7
2 (=9 =7 2 (=9 -7
3 (=3 -11) G (=3 -11)
4) (-9 —-11) 4) (-9 —-11)

21. Let S be the focus of the parabola, | 21. YRl 5 S B WRAEy x2+8y=0 -;L) AlM © 244
x2+8y=O and Q be any point on it. If P Qi arll ‘Rvi D) [atg 9. od P 21 2uvis SQ ~j,>
divides the line segment SQ in the ratio 1: 2 9elcRui [Aoier 83 dl, P -l [Gigua
1: 2, then the locus of P is: .

(1) 9x2+24y+32=0 (1) 9x2+24y+32=0

(2) 9y?+24x+32=0 (2) 9y%>+24x+32=0

(3) 32x%+27y+36=0 (3) 32x2+27y+36=0

(4) 32y%+27x+36=0 (4) 32y%+27x+36=0
R/Page 9 SPACE FOR ROUGH WORK / 2% 5Pid, 2



22.

23.

Let 6 e (0, g) If the eccentricity of the

hyperbola x?cos?0 —y?>=6c0s?0 is /3
times the eccentricity of the ellipse
x%+1y? c0s?0 =30c0s20 then 0 is equal to :

n
@
o o
@ 3

f the 1i x—1 y+3  z+5
e line 1 >

plane 2x +1y + mz =16, then 124+ m? is

lies in the

equal to :
1) 16
2) 20
3) 98
4) 85

22.

23.

Ly 0 e (0, gj o 2fdaa

x2c0820 — y2=6c0s20 il Gcsegadl Guaay
x2+ 12 c0s20 =30c0s20 -l Gedrgdl sl /3
all €, dl o=

I

N

N
ol UL = =

AHaAd

2x+1ly+mz=16 4i 20cl ¢, dl 2+m?2 =

1) 16
2) 20
(3) 98
4) 85

R/Page 10
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24. The equation of the plane passing through | 24. u¥ddl ?-(2/1'\—3/}+4;<\):1 2
. . . = (A A -~ . .-
the line of intersection of the planes r -(i_]' +4=0 -l oevnial yuRr Y, 24
a( A~ A - (A A > A A A T T
r-\2i—-3j+4k)=1and r-{i—j) +4=0 A (27— j—k) +4=0 dot & dx
and perpendicular to the plane AU, Alszel o,
7(2-)h) +amo, i
r-\2i—j—k) +4=0,1s:
- -
® 7 (i-2j+4k) = @ 7 (i-2)e4k) =
@ T(i-2%+4k) =5 @  T(i-2}+ah) =5
- -
® Tl2i-jest) =3 6 7(2i-jesk) =
- -
@ T(20-%4sk) =5 @ 725345t =5
A ACA A A < A A A N ~ A A A
25. If a, b, c be three unit vectors, b and ¢ | 25. ol a, b, ¢ el 251 AEA ¢4, b 211 ¢
]/; A
. A A A ~
are non-parallel, such that WieR ell, qul g x (b X C) = ; <,
A A
A A A
ax(bxc)=b+c, then the angle a 23 b Al well ®.
A A
between a and b is:
m T
W & O
5 2T ny 2T
@ 3 @ 3
m T
6 7 S
y 2T y T
4 @ 7
R/Page 11 SPACE FOR ROUGH WORK / 2% 5Pid, 2



26. Abox contains 6 red ballsand 2 black balls. | 26. 2is Wlui 6 dld €41 244 2 Sl €51 8. dHiedl

Two balls are drawn, at random, from it Quielps d A g4l ‘13C{g°ﬂ R wig sl
without replacement. If X denotes the 2 . ol X 2L WHE UAd Al gsidl vl
number of red balls drawn, then E(X) is gald, dl E(X) =

equal to :

) y o

o 3 n 3

2 1 2 1

® 5 @ 5

3 2 3 >

G G

o Z o Z

@4 5 4 5

27. A six faced die is so biased that it is thrice | 27. & YUl 25 Wl 2i2dl 2A[GAd (biased) © 3

likely to show an even number than an st GO 20 IR i8] AL s3dl o8l
odd number, when thrown. If the die is oy g1 dell 2L 2L o1l 8. ol 24l Wit
thrown twice, the probability that sum of A duid GorneuHi 09 dl L Wl Avi-l
the numbers on the die is even, is : AR A8l A ddl el .
y 2 n 2
® 3 S
2 é 2 E
@ 3 @ 3
3 ~ 3
® 3 ® 9
y > o 2
@ 3 @4 3

R/Page 12 SPACE FOR ROUGH WORK / 2% $Pid, 2t



28. The total number of x € [0, 2rr] which | 28. ¥ls2014(cos!Ox + sin2x) =4 + sin®x sin%(2x)
satisfy the equation 4 AU $2 ddl x e [0, 2m] -l §@ AvAL
4(cos1% + sinx) =4 + sin®x sin%(2x), is : o.

1 2 1 2
2) 3 2 3
®) 5 G >
4) 6 4) 6

29. tan (% sin” ! % + % cos”! %) is equal | 29. tan (% sin” ! 4 + % cos ™! %) =

to:
) 2 ) 2
o o
2 2 2 2
@ 3 @ 3
3 = 3 =
® 35 ® 35
4 2 4 2

30. The Boolean expression 30. odlad [A3uel (Boolean expression)

(pAq) Vv ((~q) vV p)is equivalent to : PAqVI((~q) vp) 2 A AU
8.

1) ~pvgq 1 ~pvgq

(2 ~qvp (2 ~qvp

3 pvq 3 pvq

4) Cpv(9 4 Cpv(9

R/Page 13 SPACE FOR ROUGH WORK / 2% 5Pid, 2



Part II / L II
Aptitude Test / 23R wlzn

Directions : (For Q. No. 31 to 34). For the elevation given in the problem figure identify the correct
3-D figure from amongst the answer figures.

[Aes o (4 31 434 we). o Gid g%t (Elevation) 38 uglds & ddl wuxd ARl
25ld el 2ugladziuie] «assl s2l.

Problem Figure / Answer Figures | sydlled 2iigldi]
X8 2gld

1) (2) 3) (4)
1) (2) 3) (4)

= B e E
= Do e

R/Page 14 SPACE FOR ROUGH WORK / 2% $Pid, 2t




Directions : (For Q. No. 35 to 37). The 3-D figure shows the view of an object. Identify the correct

top view from amongst the answer figures.

[ga : (4. 35 4137 2). ARl 2ugld s vged g2d caid 8. avauel AglaluiE]
1y GuRl €24 a1ss] 53,
Problem Figure / Answer Figures / syl 2iglail
u8 25l

@ H i+ i8S HE
a

7 =il sl [ HI

Directions : (For Q. No. 38 to 41). Find the odd figure out of the problem figures given below.
(A% - (1 38 4141 42). X8 glalyE] Ay (dogelSa, [ARA, odd) ugld wlél.
. |\

@) (2) 3) (4)

R/Page 15 SPACE FOR ROUGH WORK / 2% 5Pid, 2



=7
39. \Q

1 (2 (4)
o |\
1 (2 () (4)
41.
1 (2 () (4)
Directions : (For Q. No. 42 to 47). Which one of the answer figures will complete the sequence of
the three problem figures ?
[ga - (4. 42 447 w2). 2] sveuet uglailyig] ¢ wugld Ag 3z 2uglazil 2ol
yol se9l 7
Problem Figures | X8 2igldil Answer Figures | svdlled iglail
- HER B D
(1) (2) (3) (4)

R/Page 16 SPACE FOR ROUGH WORK / 2% $Pid, 2t



Problem Figures | X8 2igldil Answer Figures | svdlled glai]

B AR

AR

s HH @ L 2 @ @ @ @
1) (2) 3) (4)

. EHSS BB

1) (2) 3) (4)

o PO ¢ ] DO D
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Directions : (For Q. No. 48 to 53). Which one of the answer figures shows the correct view of the
3-D problem figure after the problem figure is opened up ?

[ga - (% 48 453 Hi2). Al 3z gl vid] v 2ud dl sveust 2ugla=i-]
s¢ 2sld 1y €29 2Rl 7

Problem Figure / Answer Figures | syl 2igldil
X8 25l

L SL L L

48.

—~
—
~
—
N
~
—
2 || L]
~
—~
= ][] ]
~

T o i [T

—~
= ]
~
—
N
~
—
2 L]
~
—~
= ]
~

lipupifizspifigagi¥izssl!

1) (2
R/Page 18 SPACE FOR ROUGH WORK / 2% $Pid, 2t
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Problem Figure /
X8 2gld

Answer

iy

iqures | syl gl

L 4,

i)

—~
—
~

Il

—~
N
N

Il

—~
p—
~

—
(O8]
~

—~
N
N

—~
N
N

] [

—
oY)
~

—~
N
N

]

] [

(1)

(2)

®)

R/Page 19
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Directions : (For Q. No. 54 to 57). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

[Ae% © (4. 54 4157 42). u8 2Agld ygiedy 6wzl eed daud &. cug (dlz) Al Eeuyi sdi
svellel 2l #y Gid €2l (Elevation) iss] 5%l

Problem Figure / Answer Figures / sydled 2Uiglail
X8 2Ugld
—
1 M) @) © @
55. =
T 1) 2 ) @)
. |4 A
T 1) 2 ®) )
2,
1 (1) el @ @
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Directions : (For Q. No. 58 to 61). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?

[ga o (%58 4l61 #2). sveltel Algla ] s& 2u5la 38 gl X - X - de 2y 64
(212l4l) ulaleior & 7

Problem Figure / Answer Figures / sydled 2Uglail
X8 2gld
17 | NS
X (1) @) ®) @
X
59. —] —] —]
X
1) ) ®) 4)
X
o 4% ST
X 1) @ ©) @
X
61.

X 1) (2) ©) (4)
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Directions : (For Q. No. 62 to 65).

[des o (1. 62 4l65 4i2).

Problem Figure /
X8 2gld

62. OED
2

—

63. —

w |© O

O
65. | O

The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

u8 2sld ygidd Gzl eed caud ©. it (dlz) Al Eeul edal
4aq Geid g2+ (Elevation) syeiel 2iglaziiel] sl 53

Answer Figures / syl 2iiglail

(1) (2) (3) (4)

Hil= R iR [ar =R [a =
(1) 2) (3) (4)

|

[

I Il

(4)

e e e
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66. Which out of the following is the country | 66. -ll2-ruiall s4l & ”g[:l?{t-l'l ©d” (Roof of the
called the “Roof of the World” ? World) al5 20w & 7
(1) Japan (1)  eav
(2) Tibet ) [Qee
(3) Mongolia (3)  Hidudla
(4) Uzbekistan (4) Gxolrdid (Uzbekistan)
67. Which one of the following has a better | 67. llamiel sl G™uRlad 3ed (insulation
insulation value ? value) 48R & 7
(1) A concrete wall 1) sisledl (e
(2) A brick wall 2) geidl Eeua
(3) A cavity wall (3) vl Yso [Eeud (Wl Bouw)
(cavity wall)
(4) A stone wall 4)  uwcuzdl [
68. Which one of the following is a renewable | 68. dl2i-ruiall s34l Glod-l 2t YA U (renewable)
source of energy ? 97
(1) Coal 1) slal
(2) Natural Gas ) wglds Ay (Natural Gas)
(3) Ocean waves (3)  UPR Hed (Ocean waves)
4) Oil (4) ad (Oil)
69. Charles Correa was which of the [ 69. e siza Al=iAmiel sloL ¢dl ?
following ?
(1) A British Architect (1) [3Zlan 2auld (didsik)
(2) An Indian Architect (2)  ourdld 2euld (Argsi)
(3)  An American Architect (3)  2uRls 2auld (Ardsi)
(4) A Brazilian Architect 4) Al 2aud (Ardsr)
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70. Who amongst the following is not a | 70. -ll2-xisll s10L Qs (A © qualified) 2&uld
qualified architect ? (i) w4l 7
(1) Remo Fernandes (1) M 248 (Remo Fernandes)
(2) Arundhati Roy (2) Q){iﬁlcﬂ 4 (Arundhati Roy)
(3) Satish Gujral (3)  udl™ dsv214 (Satish Gujral)
(4) B.V. Doshi 4) ofldl €:il (B.V. Doshi)
71. Ellora group of temples represent which | 71. gzl Ul L AlRArmisdl 2l uldAEc
of the following ? KO
(1) Hindu Religion (1) (& @i
(2) Buddhist Religion (2)  oAles gl
(3) Jain Religion (B) & Q?{-i
(4)  All of the above (@) Guwdl v
72. Parthenon is located in which country ? | 72. Wir-t s34l 2L 2494 © 7
(1) Romania (1) Rl
(2) Russia 2) =Rew
(3) Greece @) Al
(4) Japan (4) v
73.  Which of the following is equivalent to the | 73. &MY YR AlRAAmigl S%I', Add YRdlMsA
Nobel Prize in architecture ? AASH O 7
(1) Academy Award 1) sl Y251 (Academy Award)
(2) Padma Shree (2) st #l (Padma Shree)
(3) Pritzker Prize (3) [Bi»sr yasi (Pritzker Prize)
(4) Star of Architecture (4) Nl dRAL (Star of Architecture)
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74. An escalator looks like which one of the | 74. 2i$dz2z l2aA-igll 2uAl 6?% Al ® 7
following ?
(1) Ladder (1) Qe (Ladder)
(2) Staircase (2) ¢l (Staircase)
(3) Ramp B) =™
(4) Lift 4) [ase
75. Who amongst the following is an | 75. «la-uisll stol 2auld (Ardsi) 8 7
architect ?
(1)  Vikram Seth 1) [@sw s
(2) Lauri Baker (2) dRl A
(3) Khushwant Singh (3)  valeid Ria
(4) Ruskin Bond (4) RSl olles
76. Burj Khalifa is located in which one of the | 76. ‘@Gx’" velsl 4L EUHL 294 ©
following countries ?
(1) Saudi Arabia (1)  Gel R[4 (Saudi Arabia)
(2) Dubai ) 5
(3) Turkey @) qdl
(4) Afghanistan (4)  geAdA (Afghanistan)
77. Which of the following is the most striking | 77.  «lla-twigll &3 i1 Risel U1 €18 (Sydney
teature of the Sydney Opera House ? Opera House) -, 4t Wy 87
(1) Entrance Hall (1) s vis (Entrance Hall)
(2) Interior Design (2)  iidkls AL (Interior Design)
(3) Sail shaped roof (3) Ad (Sail) 51, &
(4) Location (4) RA-
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78. Which one of the following is an odd | 78. l2i-uwisll 5§ sds [Avnt ([BRA-0dd) © 7

combination ?

(1) Forts and Jaipur 1) e 2 /AYR

(2) Lakes and Udaipur (2)  doudl (ARUeRL) 2t BEAYR
(3) Temples and Madurai (3) Rl 2 g

(4) Rain and Kutch (4) ol 2 528

79. Tsunami is a result of which of the [ 79. YAl (Tsunami) 2t l&A-migll 2w wkeuw

following ? S

(1) Sea storms (1)  u¥gl disirt (Sea storms)

(2) Earthquakes in coastal areas (2)  AUPR (Brril ¢§y

(3) Earthquakes in the sea bed (3)  UR-d4 () (sea bed) -l ®§u
(4) Strong ocean waves (4)  oARER :dgf:l Hied (waves)

80. Chandigarh was planned by an architect | 80. =gl 2&uld (URqsiR) A2zl 5191 ¢di ?
who was which of the following ?

(1) American 1) 2Rl

(2) French 2)

(3) German (3)  eHd

(4) Australian 4) 2 laud
-o0o- -o0o-
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Read the following instructions carefully :

[t (23l Eutetyels ] dau

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part IT (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part 11, % (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if no response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part
& I and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

1.

10.

11.

QUL T i 2Bl 30 [Ascuasll Hsll © el 525 Uil WAL

SYello 12 AUR (4) 2401 . el IT A (AR uRlaw) -l 50

[Aseuaail 2l © o/ui £35 Ustetl UIAL svlod HIE AR (4) 2181

. YReisiAl eURL I 4l 2 12 © ol 70 98L B, drl 12

(s giEoL 2lle uRlan yrasidl 2ier veunl 2094 9.

€35 Usl AL 2AvAL AL 201 B, eUdL T 24 oudL TT Al AUels

izl svellot Hi2 ga eIl v (s Aqale) Bed (1°91)

del ge 2siRuiel sl 20eRl. Goir AUl o SIS Uzl

Gtz 4 ual, Aoddl g4 il S8 e seval 4T
244,

U YRrisl, svelled w2 QoL 2lleA staeryels auuel siRe
(5 sifuel wREAUCML 2 AR A2 2uant ¢l 2ud (R
(5 Uzt YReist sl 2 svetiod waaeL s19 (Gat €1 o).

svetied uat uR uRlauell s 25 sl 3 vl g ¢l ol
LRIl / vl s éo 3st YRaista (RalRd ‘g st 2’
Ui oy 539, AL 22U ER5 Uil 2L G O 2 Yrelsin
i I UL (Uil 27-31) 2AMAEE 2L O,

g5 wlsual[2 (ARlats+{l Aot 3l 3L 518 ez otise,

(8115 A [ARlets Al (R0 200 R SRl uRlauellL i
221 8189 L.

wRlatt yol st wel wRlsuedll oS 24 2R wlsn
UL T2t I Al syellod Y2t clil 24(C3[R1 uglew oL I L 1oL
2lle, (Rlatst A R o Al 244 d o uud GuRu
ol Al sul uesl o satell ergiz svel, st wRleuedl Gulald
YAl ofley ouid Ul A & dl del svetier w24 gl 2le
WSl Al Aol el @ del 2R Siellal seteum 2usl.
wRlanlot i siea 2181 Rand GuEAQ vl Raa
2l R o3l s2al wdlauedl Al @A 1R udla
oL T2t 1T+l uRlewl Ylrast dididl 28 af ovd U ©.

gasgllns/ i Ad Sasyder 2l QAL AEAL (43
35, S €.) Al won Al 531 s

wRla visul wilewellidl adq oteid wilew sisar (Rl
2l QRIEAREL Al WR AL UL el ARd cqaeRIM
URladl sl (Rl 2t QURIEREL Yoved sistd] s 2ue2l.

sduel Rudlui uila YRast, svsier w2 gL 2lle-dl
SISURL eLRlA L s¢ll/ slnel A€l 2 opugel Al

URlail yreisl, sveltod dat 2 gL 2llewl 2uia wRlst YReast
vt wileued(2t Gulral wAul weL dd,

uRlaw 3/ visul naz st§ Rac wRlanedla 2ae sisus s
ll, Wi viaa sraldfi, sl stdla, Ber, ey
giet, SaAsZIAS A 1A 21 515 Al @ vl vl
adl.
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